o = B (2017/3/283R%E)

2017/5/6~2017/5/1
N=F14
(BEf: ., CHERRIAS  IREIEER{E LR
REREHE 9718
2017/5/6 + 16,500
2017/5/1 =] 16,500
N=F14
({1, CHERRIAS  IREIEER{E LR
RIGH 9618
2017/5/6 + 17,000
2017/5/17 B 19,000
IN—4228
(B4 : ., CHERRIA S IREIEER{E FAHHERRC)
HERHE 971E
2017/5/6 T 14,200
2017/5/1 B 13,800
IN—H228
(B4 - ., CHEBRIAG IREIEER{E FAHHERRC)
RIGSH 9618
2017/5/6 T 16,000
2017/5/1 B 18,000
IN—H35
(B4 - ., CHERRIA S IREIEER{E A ERRC)
HERHE 971&
2017/5/6 + 13,900
2017/5/1 B 13,700
IN—H35
(Bifsr: [, HEBHAA  TRE M ERE ARHEERC)
RIGH 9618
2017/5/6 + 15,000
2017/5/7 B 17,000




